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Looks like a __________ relationship, to me.





(Fc vs. v


A car (m = 500 kg) is traveling along a circular track of radius 200 m.  Solve for the centripetal force required for the car to stay on the track for each of the following speeds: 





Speed�
(Fc�
�
5 m/s�
�
�
10 m/s�
�
�
20 m/s�
�
�
40 m/s�
�
�





















(Fc vs. v


Plot the data from the previous table on the graph below:






































(Fc vs. r


A car (m = 500 kg) is traveling along a circular track with a speed of 20 m/s.  Solve for the centripetal force needed to keep this car on the track for each of the following radii: 





Radius�
(Fc�
�
100 m�
�
�
200 m�
�
�
300 m�
�
�
400 m�
�
�

































(Fc vs. r


Plot the data from the previous table on the graph below:






































Looks like a __________ relationship, to me.





(Fc vs. v


If the mass of an object is 10 kg, its speed is 5 m/s, and the radius of its circular path is 10 m, what is the centripetal force?














If the speed is doubled (everything else stays the same), what new centripetal force is required to keep the mass moving along this same circular path?











(Fc vs. r


A car (m = 750 kg) is traveling along a circular track with a speed of 25 m/s.  If the track has a radius of 200 m, what centripetal force is needed for the car to keep moving along this circular track?  











If the radius of the track is doubled (everything else stays the same), what new centripetal force is required to keep the care on the track?














� EMBED Equation.3  ���





Identify Each Variable in the Equation:








What variable makes a turn “sharp”? Based on your observation of these relationships, is it easier to take sharp turns or gradual turns at high speeds?  




















Is it easier to take sharp turns at high or low speeds?  Why?  Your answer should relate to the equation above.  
































(Fc vs. m


If the mass of an object is 20 kg, its speed is 5 m/s, and the radius of its circular path is 10 m, what is the centripetal force?

















If the mass is doubled (everything else stays the same), what new centripetal acceleration (ac) is required to keep the mass moving along this same circular path?














Does additional mass affect centripetal acceleration?  Explain.
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